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Question Number : 1 Question Id : 8309468501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A solenotd of length 20 cm and radms 2 em 1s closely wound with 200 turns.
Calculate the Magnetic field Intensity at either end of a solenoid when the
current n the windigs 1s 5 amp.

20 0.8, BR&H), 2 20.% FyPbo 8o o8 Hoonh 200 H6E hhC o8

o oot fom 5§ gohdkh) S8 Sodom T8 abi3e &¥) ebings 3¢
Bk GO

Options :

250 amp/m

1. %

25.0 amp/m
2. %

2500 amp/m
3.¢

2.5 amp/m
4. %

Question Number : 2 Question Id : 8309468502 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Biot-Savart the magnetic field lmes exist around the

conducting material in the form of
adrS-45 dkieo (erdo QS (b0 el winko Dby edkiod J8in 0

ol NG5 dokicl?

Options :
Concentric ellipse

éa@%éﬁ éga‘%)a_‘gw

1.9
Concentric Circles
So|B%S &

2. % SIS pmee
Concentric Triangles

- éc@%é (B&Heen
Concentric Squares
éa@%é S8 (Trew

4. %

Question Number : 3 Question Id : 8309468503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The work done m Moving a charge on equi potential surface 1s

&ETBIKS aibSwop O Ehdowo ded uBAKTed BV



Options :

W = finite
. W =588nde
W = infinite
W =esk8n 8o
2. %
W=0
W=0
3.9
wW=1
wW=1
4. %

Question Number : 4 Question Id : 8309468504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Calculate the value of dielectric constant, given that permittivity m vacuum is
4 and permittvaty of medium s 8

drijod® DGHIB 4 Gecto Sriipnod’ 2EEIE 8 wauk o G DR

’gmoéo Deooidy SR,
Options:

4



(R

2.¢
29
3.% =T
2.02
4. %

Question Number : 5 Question Id : 8309468505 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Integral form of the Faraday’s Law

FEE Qcshdo S0 $5ozrD¥ Srdo

Options :

%Em—_djEd
_dt W ¢

1. %
Edl="(pa
35 - —Ef o
2. %
me— ded
. = dt .aAs
3. %



% DL—D B.d
e.DL =+ .ds

Question Number : 6 Question Id : 8309468506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Transformer that converts high A.C. voltage to low A.C. voltage 1s called
Rrg ok AC. $6ed s A.C. 5920 drys o 280 dede?
Options :

Step-up transformer

NVR-R (6P ) I°820

1. %
Step-up voltage current transformer
L. 0D 82 6] ) 620
Step-down transformer
V- TR (PR ar820
3.¥
Both step-up and step-down transformer
L VR-OD NOA V- TR (EPR) 820

Question Number : 7 Question Id : 8309468507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Coulomb’s Law from gauss Law

Erorod Aehie, e Achhol ad&rAcd srdyr

Options :
4197
fa =5~
1. %
1 qqo
TEY T
2.9
J‘E,ds o
0
3. %
9
O = =
4, ®

Question Number : 8 Question Id : 8309468508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hall coetficient formula

BS Koes¥odD Srdo

Options :
1. %



.
Ry
2. %
R — 1
e
3. ¥ ™
_ 1
-
R
4, % H

Question Number : 9 Question Id : 8309468509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Convert the 29.2 44y from Decimal to Binary [ |

29.2(10) dmo¥ Grdo %od BR0 Gros"8 drthe

Options :

00111.110,

1010.1010,



11101.001

0011.110,,,

Question Number : 10 Question Id : 8309468510 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

De-Morgan’s 2°¢ theorem

éaswcgg 2% QcShadn

Options :

AB=A+B
1.¢

AB=A+EB
2. %

A+B=A+B
3. %

A+B=A+B
4, =

Question Number : 11 Question Id : 8309468511 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of atoms per unit cell in diamond is

85088 o NSE wnde Sogyg

Options :
6

1.v
2

2. %
4

3. %
8

4, =

Question Number : 12 Question Id : 8309468512 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The relation between three electric vectors E, D&P

E : D&P o DS Bo¥w Dy Homoo

Options:

D=€,E+P



Question Number : 13 Question Id : 8309468513 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An electron with a velocity 1.76 X 107 m/s desctibes a citcle, the magnetic

field of Tnduction 0.02 w/m? then the radius of circle is.

0.02w/m’ edinod (@8 KRS wdhiFol 5$iae, ¥ dugs

176 107m/s 08" §ymees 2066 86K © ) Tirbin dos?

Options :
L« lom

2 cm
2. %

0.5 cm
3. %

0.2 cm
4, &

Question Number : 14 Question Id : 8309468514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Energy stored 1n a magnetic field of a solenoid

Forond k) wched 5EeS° Vg ebndH ¥

Options :
B2 Al
i =
Ho
1. %
U= il Al
2 W
2. ¢
2B2Al
F =
Ho
3. %
&
E =—Al
Ho
4, ®

Question Number : 15 Question Id : 8309468515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Velocity of electromagnetic waves using Maxwell’s relations 15

553 $u¥ere wordom Dikagichmed Somry Gng) Ko

Options :
1. %



1
V =
€0+ Ho€o
3. %
1
V= ——
v Ho€o
4.9

Question Number : 16 Question Id : 8309468516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Maxwell electromagnetic waves are purely In nature.
$r8)RS Doghcioinod Sbomen b Serard) $OR dokron.,
Options :

Longitudinal waves
Bgrod $8omren
1. %
Transverse waves

DS S¥orren

2. ¥



Both Longitudinal waves & transverse waves

- Bgrod S¥orren o8ckn 8% S¥orren

Stationary waves
2O SBorren
4. % @

Question Number : 17 Question Id : 8309468517 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Integral form of the Faraday’s Law [ ]

FEG Dahkoo &) Kol Brso.

Options :

jﬂgdz—_dfﬁd
) _df LS

1. %
ﬁgEdl—_ijd
2 _df .aAS

2. %
ngdl—_ded
;s _dt .dAs

3. %



d
o o
?( dtf >

Question Number : 18 Question Id : 8309468518 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Efficiency of the transformer

ErRFeES Sw¥) SES
Options :
_Val
L VliZ
1. %
4
n= ?211%
2. %
Vi,
L
3.¢
B V',
*
4, %

Question Number : 19 Question Id : 8309468519 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The units of pointing vector

Fonofioh H6¥ Sw¥) (Srerwe
Options :

W/m?

Watts

J/m

3. %

Joule

Question Number : 20 Question Id : 8309468520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a transistor, the base and emutter currents are 0.08 mA and 9.0 mA
respectively, then find the collector current?

(€706 Gg) BY &bk A © hom (HSrdd) s ev S6idm .08 mA

%662 9.0 MA wanis’ $855 thom [dSeros sl S,

Options :

9 mA



9 A

9.52 mA

9.52 A&

Question Number : 21 Question Id : 8309468521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following matertal is used as a moderator in nuclear reactor

$riBe6 oL’ BBt ath S
& @

Options :
Cadmium rods
?&gd.‘aa ééﬁﬂa
1.9
Steel rods
55 %8en
2. % TETTUE
Heavy water
P8 =0
3. %

4. =



Uranium rods

SrBReSHo Sden

Question Number : 22 Question Id : 8309468522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The postulate of stern-gerlach experiment m the following
20k EaErte @) o Bob a6’
Options :

Space electron

FEBE QoS

Space quantization

PE8E HOLrBESe

Existence of photographic plate

PP (eHE ¢S &8

Existence of proton

@ferS &8

4. %

Question Number : 23 Question Id : 8309468523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Raman effect 1s due to

TP OIS Tdcs0

Options :

Molecular absorption

098D 5 16D

Molecular scattering

0963) &S0

Molecular refraction

09£) SIS0

Molecular motion

4% 9D VD0

Question Number : 24 Question Id : 8309468524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Energy Stored in a magnetic field of solenoid

Forws G vched 5Ees’ Jey Tchads 43

Options:
1. %



;e

=
Ho
1 B2
0O=——-AI
, 2 Po
2B2Al
=
Ho
3.
2
E =—Al
| Ho
4. %

Question Number : 25 Question Id : 8309468525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When the matersal of the particle 15 at temperature ‘T then expression for

De-Broglie’s wavelength
o8 o @8 Yo ‘T o3 adfifl 88 akyipd ') Qo8 S50BoRS 88t

Options :



A =
3mkT
h
A =

2mkE

3. %
h

F E—
2Zmquv
4, ®

Question Number : 26 Question Id : 8309468526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Heisenberg’s Time-Energy uncertainty principle

Tusnd G soo-¥3 olBE; SeFo

Options :

AL AE < h
' T A

At.AE > b
' ~ A



AeAl =

N S

h
At.AE = —

Question Number : 27 Question Id : 8309468527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Emnstetn’s relation the Energy equivalent of 1 amu 1s given by

sSus Nebio o | amu & Soid 4

Options:

931 Mev

931.5 Mev
9031.2 Mev

931.25 Mev



Question Number : 28 Question Id : 8309468528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hydrogen bomb works on the following principle

FE =S arom SVDeke S|
Options :

Nuclear Fission

So(8¥ DNRYe

a- decay

®o) a%é&@

 —decay
Der QKB

Nuclear Fusion

E R )

Question Number : 29 Question Id : 8309468529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[1 the uncertamty n energy of the electron 15 equal to planks constant b, then

determine the uncertainty m 1ts time

%_306‘5 eRE 880 a8 ?8@0%0 % Sirdo @ond e Dol eRgyot SGoiiin,



Options :

At =
1. %

At =0
2. v

All =1
3. %

At = 0&1
4. %

Question Number : 30 Question Id : 8309468530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s Normalization condition

FgedBEsemo 28 o 32

Options :

f |W|?dx dy dz = 0

f [Y|?dx dy dz = 1

2. ¥



J‘ |W|?dx dy dz = o

J‘hﬂlzd}: dy =1

Question Number : 31 Question Id : 8309468531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Schrodinger Time-Independent wave equation in the following

808 RS [PEoKE v wgrdd Solf SnEsmot Koo,

Options :

2m
A%y + =(E=V) =0

1.4

A% + (V E)Yy=0

. 2m
A L[J-l—?(E—V)l/):O



5 2m
A 1,[;+?(V—E)1p=0

4. =

Question Number : 32 Question Id : 8309468532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mass-defect per nucleon 1s called as

B8 S°hod% $mBdirS % Ko MHBR akoirt?
Options :

Nuclear Mass (M)
v (Bagoe8 (M)

1. %
Nuclear charge (Q)
. o= 8 (Q)
Packing fraction ()
. ms8oh Ao (1)
Nuclear fraction (F)
we 5806 (F)
4. %

Question Number : 33 Question Id : 8309468533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The spmning electron has an associated magnetic dipole moment of 1 Bohar

Magneton then

2R deEs 86 e 'S G¥) eekhimod B Hrdod $0Rm0B, Oipd

Options :
B h
. Fe = 2m,
he
He =
L. 2m,
hl
He = om
3. %
B h
#E? - Zme
4. %

Question Number : 34 Question Id : 8309468534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The shortest wavelength i Balmer series 1s

250 (3DS° 08 K% SBok S5s0.

Options :
1. %



6565A4°

. 4201A4°

5 ¥

3647A°

3. %

28344°

4. &

Question Number : 35 Question Id : 8309468535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Liquid Drop Model was proposed by
D838 (oD BSOS (HBIBCNS FB?
Options:

Sommerteld
FE5HS

Bohr
&5

2.9

Raman

a0



Stern and Gerlach
35 %85 Bgss

4. =

Question Number : 36 Question Id : 8309468536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The uncertainty in measuting velocity of a proton is 4 X 10°m/s. The
minimum uncertainity mvolved m measurmg the position of proton will be

(S Imdy £03 6088 4x 10°m/s souk, FerS oy Pediod’ W

o8 o8 Sotnod,

Options :

7.9 %X 107 °m

7.9 X 107 1%m

39 %107 m

39x 107 19m

Question Number : 37 Question Id : 8309468537 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The vibrational rotational spectrum is observed in region

500 (ide wdbo & Podos® dotnob.
Options :

Ultra violet

- 0&o& e
Microwave
BESS

2.9
Visible
D%

3. %

Radio frequency
3EE> ($3F)

4, %

Question Number : 38 Question Id : 8309468538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider an electron 1n a hydrogen atom revolving m 1ts second excited state
having radius 4.65 A. The de-broglie wavelength of this electron is

PER Sodrms’ Bokk ez 3;03:6‘3 465 A agﬁﬁgo S0 99@;5 ¥

Ae'h 880t a0

Options :



Question Number : 39 Question Id : 8309468539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The energy operator in one-dimension 1s

% o8S°® 48 wites

Options:
th 0
2 Ot
1.¢
[ d
h dt
2. %
h o
I 2T 0x
3. %



Question Number : 40 Question Id : 8309468540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The [ — spectrum is
f —&8He0

£
Options :

Discontinuous spectrum

. 6'){}_3263_ S
Continuous energy spectrum
. E:S)Qgég_ CERSI e
2.
Discrete energy spectrum
NRE ¥8 H¥Heo
3.¢ - = 0w
Discontinuous energy spectrum
. VNN, ¥ DPsdeo

Question Number : 41 Question Id : 8309468541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The smallest possible mtegers of miller indices

Db Jrdfe g 08K ORI

Options :
1 2 35
h:k:l ==:=:=
pqr
1. %
(I
hik:il=—:—:=
PTq
2. %
i O |
h:k:l==:—:—
rF g x
3. %
11 1
hik:l=—=:1=:=
P qr
4.

Question Number : 42 Question Id : 8309468542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Bragg’s Law of 2d sinf = n X,'d’ means

@) &e$s® 2d sinf =nx, & 'd' A 2R votrs?
Options :
Distance between lattice planes

¥ KDindoren aﬁ:ar::ié Erdo

1.4



Distance between two light rays

- Bo¥ =°08 Ty &g Srde

Distance between two sources

- S o8 wprde wE; Srdo

Distance between two objects

Sk IRPe Wy Srdo

Question Number : 43 Question Id : 8309468543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Meissener etfect 1s also known as

58 Herdod 368

Options:

Meissener Exclusion

g)oﬁ&s wdsBonod

1. %
Meissener Indices effect

255 oz (Harse

Flux Indices effect

OPT® POSY (BFPRe



Flux Exclusion

@iarar HbsFonosd

Question Number : 44 Question Id : 8309468544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Resistance of a Super conductor 1s

©8 TESe WY 28580

Options :

on)
1.

0
2.

Finite
- =0kso
4, % 1

Question Number : 45 Question Id : 8309468545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The Energy Eigen Values of a particle in mfinite Square Well Potential are

Proportional to

ofodN SEBPE RS 36 60 Yo QoY) 4 wn deviien GR8 B

Fdod® dotron.

Options :

n

1. %

= -

Question Number : 46 Question Id : 8309468546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following matertal exhibits super conductrvity at relatrvely high

temperatures
& Bob 86’ 08 ¥ diom w88 aififide KK BT [8E08.
Options :
Mercury
P&

1. %



Copper

o°A

Silicon

29508

Yttrium barium copper oxide

on(@cho BOHho o586 @&

Question Number : 47 Question Id : 8309468547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the possible number of different types of Lattices n 3D?

3D & W Gzre odn (Tovw) o 3"{35&’::&5 nogy Jo¥?

Options :
4
1. %
8
2. %
14
3.
17



Question Number : 48 Question Id : 8309468548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Primarily the bonding in diamond 1s

g8o&s® &) poFe [Beeldormr

Options :
Tonic
©SrIE
1. %
Metallic
- &
Covalent
Ho&Brdas
3. ¥

Vander walls

FolEzrsS

Question Number : 49 Question Id : 8309468549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Quantum confinement effects in nanomatersals primarily arise due to

S émcgezé‘s 5000 NGO [BFares (RarRom 898 sémorr a9 REon,

Options :
1. %



Large crystal size

28 ‘n‘ﬁgéé o8 r e
&

Small crystal size

ﬁé&_ ‘E&Jﬁé 5850

2.%
Homogeneous composition
.
- Beficsh g.aﬁtianj
Low surface area
r‘.’.)ég_ S E-E‘Deéc
4. %

Question Number : 50 Question Id : 8309468550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Intensity of X-ray diffraction peaks depends on
X-&8ere &')Eﬁééoé‘s Sporen GE) 5 5?0:’.3 ST8AE Sotnod.
Options :
The atomic number of the sample

Qoo Hoedo &wé& 538 597°620 ﬁc%
o

The crystal structure of the sample

Sowaeme ﬁ:ﬁgc t:?.axaé& ﬁg&é Qo%ea0

2. ¥



The temperature of the X-ray source

X-88ero 2o ¥ oK
3. %

The pressure applied to the sample
. NRrarR aR) 288
4. % & =

Question Number : 51 Question Id : 8309468551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This model 1s useful m understanding Nuclear stability and Spin
@&%5550 0k ek g0 SHPHR8 $5RrHSE JrES
Options :
a —particle Model

a —particle $g8&
Liquid drop model
L, (B Do 588

Shell Model
nS IrES

Atomic model

0630 &
@



Question Number : 52 Question Id : 8309468552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Use of T-S diagram
T-S $Heo Sn¥) a3&@rie
Options :

To check the efficiency of heat engine

siicholo nY) riatioks 08 DS

To calculate the work done of heat engine

aRcho(Eo SwE) JIV BFHhoHbH

To predict the loss of power while working of heat engine

agcbodo ST bpd AW Fiadio Gn¥) Solh volF Skt

To calculate how much of heat energy required

&3] cHo[Eold od adiin VNIEIr SHhoHeH

Question Number : 53 Question Id : 8309468553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A carnot heat engine works between 100°C and -5°C. Find the percentage of
1ts max efficiency?

o dijshiodo 100°C Sieetn -3°C a6’ SRR 0 0 G

&8¢ wol B8,
Options :

20%
1. %

25%
2. %

28%
3.+

26%
4, %

Question Number : 54 Question Id : 8309468554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When a gas suffers Joule’s Kelvin effect then enthalpy of that gas

28 araias) S-S0 H080RS 10 vomdbond By © T Gwd) dogred.

Options :
/ero
S
1. %



Infinity

olodo
Finite
L. 208
Constant
B30
4. < "

Question Number : 55 Question Id : 8309468555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Vander Wal’s equation of a gas

2.8 Sraing Bw¥) Folbard S&¥8 0.

Options :

[p _l_izl [+ b| =RT




[p—%][—v—b] = RT

Question Number : 56 Question Id : 8309468556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Relation between Temperature of Inversion and critical temperature

&% é%{ﬁéé‘a, é@ é%[ﬁé wgiie Sowog.

Options :
4
1= ().
1. %
4
r. = (57)"
2. %
27
= ()
3.¢
27
= (F)m
4., %

Question Number : 57 Question Id : 8309468557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



For a triclinic crystal system
B 898 )&% Qoo 870
Options :

a=b#*c;,a=p=y=90°

1. %
a=b=c;a=p=y=90°
2. %
a=b+*c;a=p=90°&y =120°
3. ¢
aFxFbF*Fc,a+f Fy+*90°
4, ®

Question Number : 58 Question Id : 8309468558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Solar constant formula

RS Jorotoss: dr(Ei.

Options :
VI X 60 B . o
S = 1o A2 cal cm™“min
1.+
_ VIx100 N
S = EYF T cal cm™“min



VI X 100

_ —2
S S g g PR
3. %
VI X 60
8= cal cm™?2
AXagxia?
4, %
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Calculate the temperature of Inversion of helium gas given

a =344 x1073nt = m*/mol* and b = 0.0237 X 1073 m* /mol

R =8.31Joul/mol - K.

a =344 X 10°nt —m*/mol* b = 0.0237 X 107 m*/mol &ees

R = 8.31]oul/mol - K. rdcto sty %) 6% e 8o

Options:

-236° C
1. %

-238° C
2. ¥

-237° C



Question Number : 60 Question Id : 8309468560 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
Mean free path of gas molecule is
TSN BWEPDYD '5&5733 D8 Koggasin
Options :
Proportional to pressure of a gas

TS50 HEGo% &St Erdidrdost dotnob.

1. %
Proportional to temperature of a gas
TSR SEfHESH od&brdardo dotnod.
2. %
Proportional to diameter of molecules
AN e FHRORE & Errsos® Hotnod.
3. %
Inversely proportional to diameter of molecules
TR VN FLRONE D& LTS oS’ Sotnod.
4. ¢
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In adiabatic Demagnetization which ferromagnetic matertal 1 used m the
following

%BEQ 33350‘523”37055653 H8%6 (8od RE* 2 36 Sy Z’a@go‘oﬁa a3G@rhomd?

Options :

Gdg 504

1.4

Gd 803

GdS

Gd; Sss
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According to Joule’s Kelvin effect which gas suffers slight rise m temperature

P30 $0808, & (308 TS b &FF(E B frotoiiod?

Options :
Oxygen
S

1. %

Nitrogen
365



Helium

- %0
Hydrogen
S

4, ®
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In Irreversible process, the entropy of the system
SES é[;ﬁ&&i:édﬁa a’:g@@s ) a’i% =) oD
Options :
Decreases

S
i

Increases

EileCTeShS

2. ¥

Constant
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Identify the clausius- clapeyron equation

PREHD-BS0°8 (o HBoE.

Options :

dp ’ LT

dt (v —vq)
1. %

dp /)

dt [L(v2 — vl)]
2. ®

dp [ LT ]
. dt lv(v, —vy)

- S

dt B T(Uz Bl 1?1)
4. &
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The relation between Adiabatic elasticity (Es) and Isothermal elasticity ().

?85 aef s %@ 3;5’5%5%: b N agf(fé ?g@ﬁ;éééé: wgstie Somogi

Options :
I
E—T =46
1. % 5
= S
Er
2.9
B 14
Ec &
3. %
E¢ 1
E &
4, =

Question Number : 66 Question Id : 8309468566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g m .. sinf ;
A lens satisfying the condition = 91 = constant 1s called
sin 6,
sin 6, .
—= = constant OR HBE% FBoI Ebdod Akotrs?
Sl U,
Options :

Concave lenses

DEP=RE S¥o

1. %



Aplabiotic lenses

OQHSE 2P Honod Be¥o

Aplantic lenses

L, ODHSE Sesoes

Aplabiotic lenses & Aplantic lenses
OINSE L3 Honod Bto¥o Hobkn wRHNSH Beossoen
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Colors of thin films are due to mterference of light wave. This interference 1s

due to

Se0R S8E° Sothen N888e0 NoN doFdadS. & HBstne 08 Homodedse,

Options:
Refraction

H8g5s%e

Division of wave tront

, x SSomriiiee DF=N

3. %



Division of amplitude

Sl Hud D=8

Division of both amplitude and wave front

o HOWS Hbokn L¥omrdne D=l Sob

Question Number : 68 Question Id : 8309468568 Question Type : MCQ Option Shuffling : No
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In Newton Rings experiment which lens 1s used for formation of Newton
r1ngs.
SreR dudkry (SGPH08, mbl dodirol QGBSTRE 6 Shko

Options:

Convex lens

Logrsed B&Eo

Concave lens

DeFeE Béoo

Plano- concave lens

Nande Pérsed Be¥o



Plano-convex lens

Sonde Horzed ¥¥o

Question Number : 69 Question Id : 8309468569 Question Type : MCQ Option Shuffling : No
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The ratio of angular dispersion between two colors to the deviation of mean
ray produced by the prism
Both e st Selas am 6k ori0 deio ks RN Diaokrty?
Options :
Dispersive prism

aéa’am ﬁ%%a

1. %
Dispersive power
DE5es ¥8
Dispersion
S)éa’izao
3. %
Scattering
i wh
L ﬂ&é@lﬁﬁ
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Correct Marks : 1 Wrong Marks : 0

Quarter wave plate introduces a phase difference radians between ordinary
and extra-ordinary waves.

ﬁ&c;oé S8t Yok Dok PPl Wi Pmin oy i )% At

Jod BAHT) CowRB.
Options :

I

NS

N

T
6

4. =
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[n the pyrometers, there 15 no difficulty m extrapolation 1n the measurement

of temperature because

36° Qb ad@pho, aiffés Fodkiyth iy A5ined’ Aol agod o4

aokdim?



Options :
Radiation remains constant

DEBeasan %-‘:535.::.

1. %
All radiation laws valid at all temperatures
o)) e 8 V58m Achirer Igertn VHT°oR.
2. ¥
All radiation laws are mvalid at all temp
L. O PESee Vhire ©Y) sifide 08 Vearn 8.
Radiation not remains constant
NESeacww ?g?ﬁ‘a"m SO0,
4. %
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The focal length of zone plate

&8 Seo¥dn So¥) ¥ Trgrgosw

Options :
rn?
n? x
1.%
P
7%



rn
L, X

rn?

3.5
4. %

Question Number : 73 Question Id : 8309468573 Question Type : MCQ Option Shuffling : No
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[n the holography, the formation of 1mage 15 based on how many processes

P e’ ($0tomo )bk & AR) Hdche Hokra.

Options :
1

1. %
3

2. %
2

3.+
4

4. =
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According to Brewster’s Law

35 Nahdoo (H=edo

Options :

r+p=95"
1. %

r+p=45"
2. %

r+p=40°
3. %

by =907
4. &
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Laurents Half shade polart meter was designed to measure
Bol) Wb frerd Wb BN Fodwds dairth TXG?

Options :

Heat

Angle

, x S0



Angle of Rotation

Sdah (&eSeeac
Light
=afet L
4, ®
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In ruby Laser, which ions give rise to laser action?

&rd B8 $ok, Sk 5% o odirdho 8po?
Options :

AL, 0,

Al3+

CT'3+

3+
03

Question Number : 77 Question Id : 8309468577 Question Type : MCQ Option Shuffling : No
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The condition for achromatic doublet to minimize the chromatic aberration

aﬁg Db Vrdodtrld o @aﬁg Ardodrtio Gw¥) Ao

Options:
f1 _ W
fa Wy
1. %

- w;
wi_h
w, [

3. %
f1__W1
f2 W

4.
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Find the focal lengths of two component lenses of an achromatic doublet of
focal length 25 cm. The dispersive power of the crown & flint are 0.022 &
0.044 respectively

e Grdodirio Guf) 3’96’3055&:: SR 0,022 & 0,044 Bk Pgroiito 25em soud

Bo@rito k) Fyerodbo $8fRed?

Options:

25 cm

Question Number : 79 Question Id : 8309468579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

the SI unit of power of lens

Beo¥ PRgroN SI (B
Options :

Candela

SO



Dioptre

fefeveLrola]
2. ¢ =
Tesla
B3
3. ®
Newton

an BEES

Question Number : 80 Question Id : 8309468580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The size of optical fibers m tele communication system

B8 FSres® aid3rAcd @@éa&@ﬁ 280

Options :

10 — 50 um
1. %

100 — 125 um
2. ®

250 — 300 um
3. %

132~ 1.50 am
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Accordmg to stokes, when a light wave 1 reflecting at the surface of an
optically denser medrum, then 1t suffers,

8 [@bo, 0 b Sorlo agm diréo aiibsuo od iro@eY dirkbedd dmiigio

J08R9% oS drtry

Options :

Phase difference

S=BL0 T

1.9
Phase difference g
SeRse —

2. % 2
Phase difference %
BeBso —

3 % 4
Phase difference %
SeRdo E

4, %

Question Number : 82 Question Id : 8309468582 Question Type : MCQ Option Shuffling : No
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A rocket burns 0.02 kg of fuel per second ejectmg it as a gas, with a velocity
of 10,000 nv/sec. What force dogs the gas exert on the rocket?

o8 0885 0.02 88 aodnd) 2864 10,000 1 SHo8° mif &riod’ Qb TERB.

sowd 036 k) @ €80 Er%od?
Options :

Fact = 200N

Fl‘EHC’[iGH — 200 N

2.
F=200N
3. %
Fact na FTEHCHDH T 200 N
4, %
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In the precession of the equimoxes, the plane of the earth and 1ts orbit round

the sun are melined to each other at the angle of

Do 8, ?gaas e Q) ety O oBoo TR Gy 8, Krlld b

25OPE8 £05900 do8 Buos® 8ibeon’?

Options :

2357

23.4°

733"

28.2%

4.
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The co-efficient of restitution for a completely melastic collision 1

=08 @%éﬁgéé vdirwest @’:35633;5 oe¥o Jeot dod dotnod?

Options :
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One of the basic postulate of special theory of relativity 1s

934 3”'2:&@ &agoéo ) Sre adsinest w88,

Options :

Time 1s absolute

okn QS HEHN
1. %
Mass doesn’t change with velocity
S&roed So8® s
- (©0950° os” o
Speed of light 1s constant
o8 Rfo Vo
3. ¥ *
Mass doesn’t change with velocity & speed of light 1s constant
Biisord SHo8 b b wod Jo 380
4.%

Question Number : 86 Question Id : 8309468586 Question Type : MCQ Option Shuffling : No
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Simple harmonic Motion means

Sl -Foe il s Sodo @i

Options :
[t 1s periodic motion

28 2.8 el8l Solo

1.9
The path about mean position of force
- &9 20 Go¥) 8% agRplr (B8 o Howe atuiRe
The acceleration proportional to displacement after one oscillation
e, 3(;}6@50%0& wirbirdod® o8 oo o oknol,
3. %
It 1s not a periodic motion
a8 N Solo 8.
4, %
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Conservation of angular Momentum

@55532‘1 Q&S DeShsoin

Options:
1. %



—=0
dt
dL 8
dt
2.9
g — dP
it
3. ®
P'= const
4, %
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Detection Method of ultra-Sonics
SRR BT B8
Options :
Sensitive flame method

SRS we $E8

Piezo-electric method

PR -DEYS DS



Sensitive flame method & Piezo-electric method
e

Sensitive Electric Method
SRS RS HES

Question Number : 89 Question Id : 8309468589 Question Type : MCQ Option Shuffling : No
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The audible range of sound waves

R S¥orre Wlhe HOG

Options:

20 H, to 20 KH,

200 H, to 200 KH,

20 H, to 200 KH,

200 H, to 2000 KH,

Question Number : 90 Question Id : 8309468590 Question Type : MCQ Option Shuffling : No
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The velocity of transverse waves along the stretched string

FiBS0sE b D&t oy Fo

Options :

m
Ve e
&

1. =
T
V= |—
m
2.9
- T
 |2m
3. =
’ZT
V= |—
m
4. %
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Young’s Modulus (Y) & Rigidity Modulus (17) and Poisson’s ratio (¢) are

related as

Shof oo (V) , SRrbs thedo (1) Sobeke drowa Sde dewoie,

Options :

Y = 30(1 — 2K)

1. %

- Y

"~ 30(1 - 20)

2. ®

Y = 3K(1 - 20)
3.

. 20
. (1—=3n)

Question Number : 92 Question Id : 8309468592 Question Type : MCQ Option Shuffling : No
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The motion of Rocket 1s working based on which principle
® Nakhiho eprbor o588 &Y Hdbdo SRBK08.

Options :
1. %



Conservation of Energy

%8 ﬁééé.s Qodsee

Energy Principle

@Séééﬁ Nk
2. %
Velocity changing Principle
R D) Nahdho

3. %

Energy Principal

%8 Vafhdso

4. ¢
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[ the distance between any two particles i a body 1s zero then 1t 1 called as

oG 08 a’iéaééé’s S0 ¥epo ks &80 o) owd RN aked GokPy!

Options :
Rigid body
&ESRH

1.¢

2. %



Solid

S0

Liquids

(Baeen
3. %

(Gases

4% oRSSR0eHeD

Question Number : 94 Question Id : 8309468594 Question Type : MCQ Option Shuffling : No
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Law of Inertia completely describing about the

2s¥to Q) Vodhkeso Hrom BN Kr8) XBoBKs.
Options:

Faraday’s 2% Law

PG Qcdhdo-2
1. %
Newton’s 1°' Law
:6:‘5&:5 208E V%o
2.9
Kepler’s 1°' Law
3&55& Qadhsno-1
3. .



Only Kepler’s & Newton’s Law
SSe0 338 Jchdho HdcsH Kool Rahsoo

Question Number : 95 Question Id : 8309468595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The velocity of processional motion of symmetric Top

T Sondo En¥) PSS Rifodd K|

Options :
Iw
W p—
P mgr
1. =
mgr
w e
P Iw
2.9
Iw
w —
3. =
mgr?
W —
P Iw
4, %
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B . d
The damped harmonic motion represented by the equanond—; + Zbd—: +

wx = 0 leads to critical damping when

d d
450 — + 20—+ W = 0 &rdosad s g Soso 0By
dt? dt 0 0

@6’}5355?&% 8 Ba89% PBD dmold

Options :

b% > w?
bh? < w?
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The second Kepler’s law 1s represented by

336 Bo&E Johihe SrEod BDHhESNK8.

Options :

40 _
dE



do

r<— = const
S v dt
do
?"— —
dt
3. %
do ;
Y — = Ccons
dt
4, %

Question Number : 98 Question Id : 8309468598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At what speed, the mass of an obyect will be double of 1ts value at rest?
o o8 28 i) (Heirdolidtd, TR (KT Y (e K Dot By e

Options :
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According to spectal theory of Relativity the time variance expression

FEE epol Akiibo (Ewbo FUIRG {ltsn

Options :
At' = ft
v
——1
1. %
- At
15"2
==
2.9
i A1
= vz 1
C__
3. %
Kot — At
1?2
==
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The closest distance between nucleus and the positively charged particle

projected towards it 15 called as
Smrdcon 0dk ol 3 @Eg Fckndd gEor i§°§ Debnds
48 ol %) ©8 Kb Kro) O eokr?
Options :
Collision parameter

@ TR

1.4
Impact angle
©dirsE oo
2. %
Scattering angle
ﬁ&éﬁm %0
3. %
Asymptote
H(Eow

4. =





